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Reasoning Mega Quiz for SSC CHSL 

 

Q1. If ‘÷’ means ‘×’, ‘×’ means ‘+’, ‘+’ means ’ –‘ and’ –‘ means ‘÷’, find the value of 16× 3 + 5 – 2 ÷ 4. 

(a) 9 

(b) 10 

(c) 19 

(d) None of these 

 

Q2. Find the odd letters from the given alternatives? 

(a) DBZ 

(b) QOM 

(c) USQ 

(d) JLN 

 

Q3. Arrange the following words as per order in the dictionary. 

1. Situation 

2. Silver 

3. Sitter 

4. Simple 

5. Signal 

(a) 5, 1, 3, 2, 4 

(b) 1, 4, 2, 5, 3 

(c) 5, 2, 4, 3, 1 

(d) 4, 2, 1, 5, 3 

 

Q4. In the following question, one term in the number series is wrong. Find out the wrong term. 

3, 10, 27, 4, 16, 64, 5, 25, 125 

(a) 3 

(b) 4 

(c) 10 

(d) 27 

 

Q5. A gets more marks than B but less than C. D gets less marks 

than E but more than A. If C gets less than D then who amongst A, 

B, C, D, E gets the highest marks? 

(a) C 

(b) D 

(c) E 

(d) B 
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Q6. In the following series, the number of letters skipped in between the adjacent letters are in 

ascending order, i.e., 1, 2, 3, 4. Which one of the following letter groups does not obey this rule? 

(a) CEHLQ 

(b) DFIMR 

(c) GILPU 

(d) HJMPT 

 

Q7. Choose the missing character from the given alternatives.  

 

 

 
(a) 18 

(b) 24 

(c) 40 

(d) 41 

 

Q8. In this question, arrange the given words a meaningful sequence and then choose the most 

appropriate sequence from amongst the alternatives:  

1. Yarn  

2. Plant  

3. Saree  

4. Cotton  

5. Cloth  

(a) 2, 4, 5, 3, 1  

(b) 2, 4, 3, 5, 1 

(c) 2, 4, 5, 1, 3 

(d) 2, 4, 1, 5, 3 

 

Q9. In this question, the given equation becomes correct due to the interchange of two signs. One 

of the four alternatives under it specifies the interchange of signs in the equation which when 

made will make the equation correct. Find the correct alternative.  

12 ÷ 2 - 6 × 3 + 6 = 18  

(a) ÷ and + 

(b) - and + 

(c) – and ÷ 

(d) ÷ and × 
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Q10. Consider the given statement/s to be true and decide which of the given conclusions/ 

assumptions can definitely be drawn from the given statement. 

Statement: 

I. All astronomers are scientists. 

II. Some scientists are pilot. 

Conclusion: 

I. All astronomers are pilot. 

II. Some pilot are astronomers. 

III. Some pilot are scientists. 

IV. All scientists are astronomers. 

(a) Only I Conclusion follows 

(b) Conclusions I, II and III follows 

(c) Only conclusion III follows 

(d) Conclusion II and IV follows 

 

Q11. Find out the odd word/letters/number/number pair from the given alternatives.  

(a) PD 

(b) LE 

(c) IC 

(d) DB 

 

Q12. Find out the odd word/letters/number/number pair from the given alternatives.  

(a) 125 

(b) 512 

(c) 1321 

(d) 1728 

 

Q13. Find out the odd word/letters/number/number pair from the given alternatives. 

(a) 125 

(b) 512 

(c) 1331 

(d) 1728 

 

Q14. A series is given with one term missing. Choose the correct 

alternative from the given ones that will complete the series.  

HK, ? , PQ, TT, XW  

(a) LN 

(b) NO 

(c) LK 

(d) NM 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-onlineliveclasses/5349/english-by-neetu-singh-ssc-bilingual-live-class-by-kd-campus


4 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 
Q15. A series is given with one term missing. Choose the correct alternative from the given ones 
that will complete the series.  
JN, OR, UW, BC, ? 
(a) KM 
(b) JJ 
(c) JK 
(d) KJ 
 
Q16. A series is given with one term missing. Choose the correct alternative from the given ones 
that will complete the series.  
30, 62, 189, 760, ? 
(a) 3306 
(b) 1157 
(c) 2185 
(d) 3805 
 
Q17. In the following question, two statements are given each followed by two conclusions I and II. 
You have to consider the statements to be true even if they seem to be at variance from commonly 
known facts. You have to decide which of the given conclusions, if any, follows from the given 
statements. 
Statement: 
(I) Only first division holders are admitted. 
(II) Ram is a first division holder. 
Conclusions: 
(I) Ram is admitted. 
(II) Only Ram is admitted. 
(a) Conclusion I follows 
(b) Conclusion II follows 
(c) Neither I nor II follows 
(d) Both I and II follows 
 
Q18. Five friends are sitting on a bench facing the north. Ankit is sitting to the immediate right of 
Anjum. Amit is sitting to the left of Priya and to the immediate right of Ram. Ram is sitting to the 
right of Ankit. Who is sitting at the extreme right end? 
(a) Amit 
(b) Ankit 
(c) Priya  
(d) Anjum 
 
Q19. Arrange the given words in the sequence in which they occur in the dictionary.  
i. Claim  
ii. Clearly  
iii. Clerk  
iv. Clerical  
(a) ii, i, iv, iii 
(b) i, iii, ii, iv 
(c) i, ii, iii, iv 
(d) i, ii, iv, iii 
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Q20. In a certain code language, "PEPPER" is written as "@#@@#!" and "AIM" is written as "^?*". 
How is "PAMPER" written in that code language? 
(a) @^*@#! 
(b) @*^@#! 
(c) @^*#@! 
(d) @^*@!# 
 
Q21. ‘ACE’ is related to ‘FHJ’, in the same way as ‘OQS’ is related to? 
(a) RTU 
(b) TVX 
(c) PRT 
(d) UWX 
 
Q22. In the following question, select the missing number from the given series. 

 
(a) 4 
(b) 1 
(c) 5 
(d) 6 
 
Q23. If "#" means "subtraction", "&" means "division", "@" means "addition" and "%" means 
"multiplication", then 217 & 7 # 3 @ 2 % 7 = ? 
(a) 21 
(b) 19 
(c) 22 
(d) 42 
 
Q24. In the following question, which one set of letters when sequentially placed at the gaps in the 
given letter series shall complete it?  
JK_MJ_LM_KL_ 
(a) JKLL 
(b) LKKM 
(c) LKJM 
(d) KJLM 
 
Q25. Ravi's house is to the west of Ankit's house. Lavi's house is 
to the north of Ankit's house. In which direction is Lavi's house 
with respect to Ravi's house? 
(a) South­West 
(b) North­East 
(c) North­West 
(d) South­East 
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Q26. A word is represented by only one set of numbers as given in any one of the alternatives. The 
sets of numbers given in the alternatives are represented by two classes of alphabets as shown in 
the given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 
Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 
row and next by its column, for example, ‘O’ can be represented by 65, 88 etc. and ‘F’ can be 
represented by 13, 42 etc. Similarly, you have to identify the set for the word ‘NAVY’. 

   
(a) 20, 34, 76, 68 
(b) 12, 79, 95, 55 
(c) 44, 23, 67, 69 
(d) 75, 00, 96, 59 
 
Q27. Pointing to a woman, a girl says, "Her daughter-in-law is married to the only son of my 
husband's mother-in-law." How is the girl related to the woman? 
(a) Niece 
(b) Granddaughter 
(c) Daughter 
(d) Cousin 
 
Q28. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 
given figure? 

 
(a)  

 
(b)  

 
(c)  

 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/


7 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

(d)  

 
 
Q29. Identify the diagram that best represents the relationship among the given classes.  
Sister, Mother, Brother  
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 
Q30. A piece of paper is folded and punched as shown below in the question figures. From the 
given answer figures, indicate how it will appear when opened. 

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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